G GSG Mototechnik GmbH
0"/270;0 Konstruktion und Herstellung von ‘N; der].lCh
Mororechnik Motorradzubehér un
Rickstra3e 5, 32699 Extertal, complete your BMW.

www.gsg-mototechnik.de
. 3 Part Number 8600978
Tel.: 05754 / 655 Fax: 05754 /1740 BMW K1200S from 06.2005

instructions for your GSG Safety Crash-Pad Set.

Protection

The following parts must be dissassembled from the right hand side:

Side cover (Torx- key T25), front lower motor support mounting screw M10 (Torx-key T50)
Plugging screw (A) in the engine block M16x1,5 (Allen key 10mm)

The two upper screws of the clutch cover M6 (Torx-key T30)

Remove the clutch cable from the two opposite attachment brackets (B).

Installation: First install the six sided distancing block with a new seal ring. Wrench size 22mm Torque 30 NM
The pre-mounted crashpad holder (W1R) must now be positioned and installed, using the necessary screws,

M10 = 38Nm, M6 = 8Nm.
/Aluminum Seal Ring %EF M10x70
[ 1 .

installation position |- M6x30

LA
when looking in the direction of traffic — / ~M10x20 90
[ 4

™,

A M1 ?xss [

©
© ] RN
L__ 18 m6x40 |

shockabsorbercap absorbs ca. 1300 N (Newton)= 130Kg (286Pound)

-~

Seen from the diectional of travel

We cannot accept resonsibility for any consequent damages resulting from a crash, improper or poor assembly.
(all dimension are uncondional approximations! ) Stand 26/05/2011 BMW-K1200S-englisch-W1.doc



/%) g

Morortechnwik

GSG Mototechnik GmbH
Konstruktion und Herstellung von
Motorradzubehor
Rickstrale 5, 32699 Extertal,
www.gsg-mototechnik.de
Tel.: 05754 / 655 Fax: 05754 /1740

W

Wunderlich

complete your BMW,

Assembly instructions for your GSG Safety Crash-Pad Set. left hand side

First remove the accessory
socket covering using a
Torx-key T30

The coolant expansion
reservoir, needs to be pushed
down approx. 30mm, but DO
NOT remove it from ist front
support.

Place the pre-mounted safety
crash-pad, at the end of the
coolant expansion reservoir,
below the frame and push it
forward until you feel
resistance (Position A)

The top mounting bracket can
only be mounted in this
position, which is placed
between the opening in the
plasic cover above the frame.
The support bracket must be
positioned as far to the right
within the opening as possible

Important:

The three attachment screws
M6x16 ,must be srewed in to
position by hand, to avoid
damage to the threads.

Installation tip:

Using your knee , push up
under the Pad. In doing so,
the aluminum plate will be
perfectly posioned to the
frame profile and it will be
esier to thread in the screws.
Torque screws to 8 Nm

Haben Sie bitte Verstandnis, dass keine Haftung bei Folgeschéden, die durch einen Sturz oder unsachgemafie bzw. mangelhafte Montage entstehen,
bernommen wird. (Alle Angaben sind unverbindliche Richtwerte! )We cannot accept resonsibility for any consequent damages resulting from a crash,

improper or poor assembly. ( all dimension are uncondional approximations! ) Stand 26/05/2011

BMW-K1200S-englisch-W1.doc




